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QUESTION 1

Which action should an administrator use to restore a virtual machine to a previous state? 

A. Consolidate snapshot 

B. Revert to the latest snapshot 

C. Delete all snapshot 

D. Take snapshot 

Correct Answer: B 

 

QUESTION 2

Which storage protocol is supported by vSphere? 

A. NFS 

B. FTP 

C. CIFS 

D. SMB 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit: 

Which statement Is true about the access privileges of User 2? 

A. User 2 has virtual machine power user privileges to Prod04-3. 
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B. User 2 has no access to all objects in the Production folder and Test and Dev folder. 

C. User 2 has virtual machine power user privileges to all VMs In the Production folder. 

D. User 2 has access to all objects in the Production folder and no access to Dev01, Dev02, and Dev03. 

Correct Answer: A 

 

QUESTION 4

A virtual infrastructure operator needs to migrate a virtual machine (VM). 

Which action can the operator take to overcome the error message? 

A. Select a different datastore for the VM. 

B. Select a cluster that has access to additional storage space. 

C. Change the virtual disk format to Thick provision Eager Zeroed. 

D. Select a different ESXi host for the VM 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit: 
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Which piece of information should a vSphere operator conclude about iSCSI-01? 

A. The datastore failed because it reached its capacity limit. 

B. The datastore does not have any free capacity. 

C. The disk usage on the datastore is above 75%. 

D. The datastore usage on disk was reset to green. 

Correct Answer: C 

1V0-21.20 PDF Dumps 1V0-21.20 Practice Test 1V0-21.20 Exam Questions

Powered by TCPDF (www.tcpdf.org)

1V0-21.20 PDF Dumps | 1V0-21.20 Practice Test | 1V0-21.20 Exam Questions                                4 / 4

https://www.pass2lead.com/1v0-21-20.html
https://www.pass2lead.com/1v0-21-20.html
https://www.pass2lead.com/1v0-21-20.html
http://www.tcpdf.org
https://www.pass2lead.com/1v0-21-20.html
https://www.pass2lead.com/1v0-21-20.html
https://www.pass2lead.com/1v0-21-20.html

